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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST ROOKLET DOES NOT HAVE ANY UNPRINTED”OR TORN OR MISSING
PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE'TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, BAC OR D\AS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER SHEET,
You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

This Test Booklet contains 80 items {questions). Ea€h item is printed both in Hindi and English,
except for Questions relating to English Language, Comprehension which are in English only. Each item
comprises four responses (answers). Ygu will select the response which you want to mark on the
Answer Sheet. In case, you feel that there’is more than one correct respense, mark the response which
you consider the best. In any case,¢hoose QNEY ONE response for each item.

You have to mark all your respcdhses/ONLY on the separate Answer Sheet provided. See directions in
the Answer Sheet. - \ . :

All items carry equal marks

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate, ) )

After you have cempleted filling in all your responses on the Answer Sheet and the examination has
concluded, youshould hand over to the Invigilator only the Answer Sheet, You are permitted to take
away with youtthe Test Booklet. . .

Sheets forfrough,work are appended in the Test Booklet at the end.

Penalty, for wrong answers : ;

THEREWILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE EXCEPT FOR

QUESTIONS FROM 73 TO 80, WHICH DO NOT CARRY ANY PENALTY FOR WRONG ANSWER.

(i) There are four alternatives for the answer to every question. For each question which has a
penalty for which a wrong answer has been given by the candidate, one-third of.the marks
assigned to that question will be deducted as penalty. ‘

(1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that question,
if it has a penalty. . '

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that guestion,
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Directions
items ;

WW

for the following 8 (eight) !

Read each of the following two passages
and oanswer the items that follow. Your
answers to these Items should be basved on

the passages only. .
Passage-1 |

For achieving inclusive growt;h-3

there is a critical need to rethink the role f
of the State. The carly debate among |
economists about the size of the.
Government can be misleading. The need |
of the hour is to have an enabiing%
Government. India is too large and
complex a nation for the State to be abl.u.{
to deliver all that is needed. Asking the

Government to produce all the es~ential |

goods, create all the necessary jobs! and | 14

keep a curb on the prices of all goods is to |
lead to a large cumbersome burefiueracy ‘
and widespread corruptiond ;
|

The aim must Geste, Stiy with the |
objective of inclusive growth that was laid |
down by the  founding fathers of the
nation and also\to take a more rnnderni

view of what\the State can realistically
deliver! !

This is what leads to the idea of an
enabling State, that 1, a Government that :
does not try to directly deliver to the
citizens  everything that they need.
Insteaq, it {1} creates an enabling ethos |
for the

market so that individual

P-PFC-L-CGJB (2 - A)

enterprise can flourish and citizens can,
for the most part, provide for the needs
of one another, and (2 steps in lo help
those who do not manage to do well for
themselves, for there will always be
individuals, no matter what the sy=tem,
who need support ange help®d Heace we
need a Government that), when it comes
to the

incentive-compatible fules and remains on

market, sets effective,
the sidelines with minimal interference,
and, atthesame time, plays an important
rolesin directly helping the poor by
ensuping that they get basic education
and health services and receive adequate

nutrition and food.

According to the passage :

1. The objective of melusive growth
was laid down by the founding

fathers of the nution.

2. Need of the hour is to have an

enabling Government.

e

The Guvernment should enguge in

maximum interference in  market
processes,

4. There 14 a need to change the size of
the Government.

Which of the statements given above are

correct ?

{a) 1 and 2 only
‘b} 2 and 3 only
(¢c; 1 and 4 only
{d) 1,2, 3and4

www.onestopias.com
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2.  According to the passage, the strategy '4.
of inclusive growth can be effected byi
focussing on l
a)  Meeting all the needs of every
citizen in the country.

(b) Increasing the regulations over the
manufacturing sector.

(e) Controling the distribution of 5
manufactured gouvds. )

(d. Delivery of the basic services to the
deprived sections of the society.

3. What constitutes an enabling ;
Government ?

1. A large bureaucracy.

2.  Implementation of welfare
programmes through
representatives.

3. Creating an ethos\ that helps !
individual entérprise,

4. Providing, resources to those who !
are underprivileged.

5.  Offering\ direct help to the poor
regarding basic services.

Select, the correct answer from the codes

given below : l

(a) 1, 2 and 3 only

b} 4 and 5 only !

(e 3, 4 and 5 only |

(d) 1,2 3 4and5 |

P-PFC-L-CGJB {4 . A

Why is the State unable to deliver “all
that 1s necded”

L. It does not have sufficient burcaucracy.
2. It does not promote inclusive growth.

Select the correct answer from the codes
given below

(a) 1 only

(b; 2 only

(c) Both 1 and 2

(d) Neither 1fhor 2

What is the “essential message  being

conveyed by the author of the passage ?

‘a) The ebjectives of inclusive growth
laid down by the founding (athers of
thefation should be remembered.

tb) WThe Government needs ‘v make
available more schools and health

services.

fei  The Government needs to establish
markets and industries to meet the

needs of the poor struta of the society.

‘d) There is a need to rethink the role of
the State in achieving inclusive
growth.

Passage-2
The concept of ‘creative society' refers
to a phase of development uf a soviety in
which a large oumber of potential
contradiclions become articulate and
active. This is most evident when
oppressed social groups get pohtically
mobilised and demand their rights. The
upsurge of the peasants and tribals, the
movements for regional autonomy and
self-determination, the environmental
movements, and the women's movements
in the developing countriex are signs of
emergence of creative  society  in
contemporary times. The forms of social
movements and their intensity may vary
from country to country and place to place
within a country. But the very presence of

www.onestopias.com
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movements for social transformation in|8.
various spheres of a society indicates the ;
emervence of a creative society in a
country,

6. Whait does the author imply by “ereative -
society” ? ;
1. A soetety where diverse art fm‘ms'
and lterary writings sook Crecutive,

2. A society where socinl incqualities
are accepted as the norm. ,‘

3. A swiety where a lawrge number of
confradictions are recognised

4. A socviety where the exploited and |
the oppressed groups srow conscious
ol rheir  human  righte  and’
uplitfliment.

. i
Seleat the correct answer u-ing the codes
givem below :

‘a+ 1. 2and 3 1
b 4 only
. 3 and 4 9.

d 2 and 4

7. What uaccording 1o the péssafre Bire the
manifestations of social moverefi .
l. Aggressiveness aiid being incendiary. ;
2. Iostigation by external (orces. :
- . * ’ . [
3. Quest fur_sooiai equality and individual
frecdom

4. Urge\Morgugranting  privilege:  und
seMfarespeet o disparaged sect:ons of |

“hik Saciely. t

Setettbhe correet answer using the codes |
given below -

a1 and 3 only
b. 2 and 4 unly i
‘€ 3 and 4 only

P PFC.L-CGJUB ‘6 A

With reference to the passage, consider
the following statements -

1. To be a creauve society it is
essential to have a variety of social
movements,

2. Ton be a

imperative  tu

creative  @oviety, it is

have potential

contradictions afid eenflivts.

Which of the [stutegients
iz’are correct 7

given above

tar 1 only
‘bt (Zwonly
¢, Buth 1 and 2

‘d)” Ncither ! nor 2

Consider the following three statements :

I Orly students can participate in the
race.

2. Bome participants in the race are
girls.

3. All giri participants in the race are

mvited for coaching.

Which one of the tollowing cornclusions

can be drawn frum the uabove
statements !
ta) All participants in the race arc

invited for coacking

'by All  students are  invited for
coaching,

fc:  All participunts in the race are
students.

{d; None of the statements fa), (b and
fey g'in‘n above 1= correct,

www.onestopias.com
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Directions for the following 2 (two) items : 12.

l

Each of the following two items CONSISLS *
of [four Of these four'
sfatements, two connot both be true, but i
both can be false. Study the stotements
carefully and identify the two thot
sotisfy the above condition. Select the'!
correct answer using the codes given !
below 2ach set of statements - ‘

statements.

10. Examiae the following statements ; :
1. Al snimals are carnivorous. '
2 Scme animals are not carnivorous.
3. Animals are not carnivorous.
4 Some animals are carnivorous.
Codes :
(a) 1 and 3 !
(by 1 and 2
iy 2end 3
‘d; 3 and 4

1t. Examine the following statefmonts :
! All trains arc pun By=diescl engine.
2. Some traing are) ‘run by diesel !

engine,
3. No train is,run by diese! engine.
4.  Semestrains are not run by dicsel |
eng te,

Codesy; i
‘ay I and 2
(b} 2 and 3
‘) 1and3 I
(d} 1and4

P-PFC-L-CGJB {8

i18.

A

Consider the four age pyramids given
and D
representing four different countries.

f

&

<

below namely A, B,

i

—- - Percent inapeclass - — »

B |

Which one of*" them
declining population ?

indicates the

{a; A
(b)_ B
{cy \C
d) D

The following figure has four curves
namely A, B, C and D. Study the
figure and answer the item that follows.

¢
5}

Population (billions)

0 T rn___.;.. R 3
BAD 2 $0F vL U0 Tl G TH0G LU THUL 2ol
Yeur

Which curve indicates the exponential

growth ?

ta; A

iby B

{cy C

idi D
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Directions for the following 2 (lwo) items : ' 14.

The following pie charts show the
break up of disease categories recorded in
the patients from two towns, Town A and

Town B. Pie charts plot the disease
categories  as  percentage of the total

number of patients. Based on  these,
answer the two items that follow the
charts,

Distribution of discases in Town - A

TP T Y
- Diabetes 7.4

High BP
13¢t '
I ]
L. ! T T
\ - Heart Disease
\ J /j: 290, '
/ +
xudw L
L L1 S

o
RN
L :

) B e |
?_; Diabete

5 — N}

A S aARR A
\ ' ﬁfj Heart Disease
‘ ) 30
~ \{‘ i l{,«_JL.---
P-PFC-L-CGJB (10 -

15,

S 107

A}

Which of the two towns has a higher
number of persons with Diabetes ?

(a) Town A

{tb) Town B

fc: Same in Town A and Townp B

(d} No inference can be drawn

What can we say about \persons with
more than one disea%e from these
graphs ?

‘a) There are fikelyntofbe persons with

more than one disease in Town A.

(b) There are likely to be persons with

more’ than one diseasc in Town B.

{c) There are likely to be persons with
more™'than one disease in both
Towns A and B.

{d) No inference can be drawn.

Consider the following Velocity - Time
graph. It shows two trains starting
simultancously on paralle! tracks.

Velocity

With reference to the above graph, which
one of the following statements is nof
correct ?

(a) Train B has an initial acceleration
greater than that of Train A.

(b} Train B iy faster than Train A at all
times.

(¢c; Both trains have the same velocity
at time to.

(d) Both trains travel the same distance

in time tU units.

www.onestopias.com
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14,

15.

16.

{11 - A
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Directions for the following 6 (six} items :

P-PFC L-CGJB

Reud euch of the following two possages
and answer the itemns that follow. Your
answers to these items should be hased on
the possages only.

Passage-1 l

Ecosystems provide people with ar
variety of goods and services; food, clean'
flood

pellination,

water, clean air, control, soilﬁ

stabilization. climate

regulation, spiritual fulfilment and
aesthetic enjoyment, to name just a few.
Most  of these

irreplaceable or the technology necessary !
J

benefits cither are
to replace them is prohibitively expensive. .
For example, potable fresh water can be-
provided by desalinating sea-water, but

only at great cost,

The
population

rapidly  expanding  buman
greatly modified ‘the
Earth'~ ecosystems to meet their in€raased |

has

requirements of some of ghe groodd and!
services, particalarly foody {lregh water,
timber, fibre and fuel . Thésesmodifications

have contributed substamtially to human

well being and gconomicdevelopment. The |
benefits have pot,been equally distributed.
Some people thave actually been harmed |
by theseebanges. Moreover, short Lurm!
increases \in some ecosystern goods 3nd‘
serviees “have come at the coxt of thel

long term  degradation of others. For |
example, efforts to increase the production |
of food and fibre have decreased the
ability of some ecosystems to prmide[
clean water, regulate flooding and support |

biodiversity.

(12 .

7.

18.

Al

With reference to the passage. consider
the following statements.

Expanding human
adverse effect on :

population has an

I. Spiritual fulfilment
Aesthetic enjoyment
Potable fresh waudr

2
3.
4 Production of food andfibre

5 Biodiversity

Which of the stateménts given above are
correct ?

1, 2 andy3Ponly

g

‘b; 2,4%nd 5 only
%, 3 and b only
d; 1,2, 3,4and 5

The passage mentions« thut “some people
have actually been harmed by these
changes”. What does it imply ?

1. The rapid expansion of population
has adversely aftected some people.

2. Sufficcent effort: have not been
made te increase the production of
food and fibre.

3. In the short term some people may

be harmed, but in the long term

everyone will benefit from
modifications in the Earth's
ecosyslems,

Which of the statements given above

is/are correct ?

tal 1 only

by 2

{c: 1and 3

(d) None of the statements given above

www.onestopias.com
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Arefefaa 6 (o) geiel & fre fdwr -
ErafaRaa &t evaien & @ m@® @ aige ik
9% JWRia e 1v geien & Jox & |
57 yeaiel & 3 F% HaeT aare R &
sirenfa g aier |

-1
uRfefd-d3 anli @ ffae ser B
TGl UF JA e B & W, [ 5,
W Ay, d e, E ReRieR,
o, ety fafaeE, smeafore aRaw

- g dhdwRe A, T 9M T 3 a6
& | gt A i oy 1 ar sefaREa
& o1 T el o= e e
yfeRers w7 ¥ HEM & | IeRRom, 9 S|
&1 faeauiieRur IR U AT Fel UAed
R 31 @l &, foeg g7 safus ara
WRE GE § |

I ¥ T AT SHEEn A CavgE
| gaRdl T, Xu ok fer ot @6l
& omawgeanl & 9 S\fred ®
gRfeREras o st aoe s & |
g7 amuRadal 3 7 & ea R siie
R § R e &g & | 3 ™ e
w7 foaika gehge € | 3 IRadHH 9 3o
At o, T g & 1 e e,
TRREfIT & BT axqil wd Janl of
el e, TR & dufafyr s B
g R g8 & | Saeond, W v Wi
U ® §on o WAl ¥ oU
a3t & el 1 YoM &1, 916
T D AT A F BN |

17. orarer ¥ 4o °, FrafeRea oAl R fTar
Hifse | '

Sa-fafgegar |

m?j?ﬁﬁ@raﬁ:r@rm'—'f'ﬂﬁ%?

(a) &ad 1,2 3K 3

(b) Facherd 3K 5

(c) Pam 33K 5

@ 1,238,435

1l eram & g 2 5 39 uRedH @ 3B

A o awger @i gf € 17 59 W A Fa

FafRea € ?

1. S @ aF g & 38 am ®
Widipel YT 9T ¢ |

5 @ vd @t b e ¥ gy a B
fore wafer womr E g € |

3. 7oA & aRfufadr-dEt #§ smaRed=t 4

© oty ¥ pE A @ O &fa wgl
Tt &, fewg dufafr & @ ot &1
Y G |

Wﬁ%aﬁqw@qﬁmﬂé’r%ﬁ%?

{a) Fad 1

(b) 2

(¢ 13R3

@ S dE A ;S o

P-PFC-L-CGJB (13 -A)
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19.

P-PFC-L-CGJB

With reference to the passage, consider !20.
the following statements :

1. It is imperative to modify  the
Karth’s  ecosystems for +he well |
being of mankind. !

2. Technology can never replace all the
guods  and  services  provided by
ecusystems.,

Whoch of the
is/are correct ?

statements  given above

{a; 1 only

‘b; 2 only
(c; Both 1 and 2 t
id,  Neither 1 nor 2 '

Passage-2 21.

A muoral act must be our own act; must

spring from our own will. If we act
mechanically, there is no morul contentfin :
our act. Such action would be moraldif we \
think it pruper to act like a mucHine%and

do so. For, in doing so, wé use. our
discrimination. We should/bear indmind
the

mechanieally and acting intentionally, It ! 29,

distinetion betwién acting .
may be moral of u king to pardon a oulprit.

But the messenger garrying out the order |
of pardon playsionly a mechanical part in !
the king's moral act. But if the mes=enger |
order |
considering it"to be his duty, his action

were tas, carry out the king's
would “be '@ moral one., How can a man |
undegstand morality who does not use his
own intelhgence and power of thought, but
lets himself be swept along like a log of
wood by a current ” Sometimes a man
defies convention and acts on his own with

a view to absolute good.

(14

A}

Which of the following statements best

describe‘describes  the thought of the

writer 7

. A moral act culls for U= Gur
discretion.

2. Mar sheould react 10 a situation
immediately.

3. Man must do his dutys

Man should #Bo0 ble o
convention in grder tWbe moral,

defy

Select the corrglt answeér from the codes
given below :

(a} 1 only

(by 1 amd 3

ey 2land™3

‘d; ¢ and 4

Which of the following -tatements is the

nearesl  definition of moral action,

acgording to the writer

far 1t i a mechanical action based on
official orders from -uperiors.

iby It is an action based on vur sense of
discretion.

fer It is a clever action based on the
clarity of purpose.

dy It s a religiouas
unaerstanding.

actiun buased on

The passage contain: a statemenpt “lets

himself be swept alung like a g of wood

by a current.” Among the following

statements,  which  isare  nearest  in

meaning to this 7

1. A person does not use his own reason,

2. He is susceptible to influence/pressare.

3. He cunnot withstand  difficultiess
challenges.

4 Heis hke alog of wood

Select the correct answer using the codes
given below :

{a} 1 only

(b} 1 and 2
{¢c) 2and 3
{dr 1 and 4
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19. @ ¥ e §, FrafaRed oA W fFER |20, ﬁﬂ%ﬁaﬁﬁéaﬂwﬂvﬁq-ﬁmm%

HIf -

1. WFE I P deawr & o gl &
AT ¢ |

9. i &0 O oRfefea gx
& I TE o aod |

9w 4 A SH-gyPR-N o 9 8RR 2

(a) ¥aa 1

(b) Fac 2

() 13Kk 2a+

(@ TFar13iRTE 2

TRATY-2

I B B & fte R | | 22.

75T 35 e v ST, e a1 s
2 goar & | fog 59 aueH & 3R &
e F e & ot §9 Ala® o 4
Yo ve dite yiie o & fafe axar
2| g O%gd T & e Bl A I
FIGTHHDT A€ PX, Al ITDI P 0B
I B | B e i S s
Fre s TuR afts @ v 78 o, AR
T P URT ¥ YEE P AN aag & Fo
> TUR 98 9 a1 &, Afiwmar o1 e &9
e gFaT & | e SW-HW I Hedrl
# gfe ¥ 3R D 3w R TG e Folg
¥ o FRar € |

P-PFC-L-CGJB (15 - A}

afiw: 21

RaRY & Garad guiE ERaT B/E & ?

1. 3fe & ofd ¥ e o Qe &
YO HETISD € |

0. fra ffty & i wqwr @ afdels
gfferan s anfee |

3. WG W O HIH BT G B A
TIEC | _

4, e 9 & v rown e ! sas
< gwd e

I R T g B FETER NS TR e

(a) Fac 1

(b) 13 3

() 23ﬁ?3

@ =3R4

e © R, Fefafea @ SF-a

e 5w Hea & Froean aRwmr @ 2

() YO8 dReel & nfieRe ameEl W
ameniRa Tite $ ¢ |

b) T8I e RauRagae |

(c) IF 3II B GEEA R AR TR

FO e | .
) 9 we R e ofie $3 & |

dam s e E 5w @ ORI $
YdIE ¥ WY AhE B P B TAF &8 S
& | Feetfea § ¥ SR-weR-a
B, 3AT/ETD Hepean 3 878 P

1. e AN adbgfe B wam TEl o)l |
9. §g ywE/eE & i sfa-wure & |
3. a8 oieTEdl/gHikal & wmar T8 ax

Hasar |
4 DY D TR I TER |

IR e v ge B FERE F Fe IR g -

-~ (a) ®Fd 1

b 13R 2.
(c) 23k 3
@ 134
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23. Consider the following distance time |25. Study the following figure :
graph. The graph shows three athletes A, A person goes from A to B always moving
B and C running side by side for a 30 km to the right or downwards along the ‘ines.
race. How many different routes can he adopt 7
) C 1B AF e
35|- . ' i k
" sl A t_ | !
| g5l ' F —t -
' L) ! 1
= -zol : i )
g ' , |
8 1) | ek
o . t
é m‘ X Select the correcthandwer from the codes
5| | given below :
T 1 o L A ™ ey o _1—_‘_';' - T Y (a , 4
® 5 10 15 20 25 30 35 40 d5 (b €5
Distance in km - > ; ( ' \
With reference to the ahove graph, | ¢
copsider the lollowing statements d: 7
1 The race was won by A
2 B was ahead of A up to 25 kimn 126. Consider the following figure and answer
mark the item that follows :
3. € ran  very slowly frofr “he
beginning. _
Which of the statements #hvéh above .
i='are correct ?
(a. 1 only
‘b: 1 and 2 only
{cl 2 and 3 only
‘dir 1, 2 and 3
24. C(Consider the following figures :
2 a6\ 3 *_]
KO 4 29 120 | 3 ‘l What is the total number of triangles in
. R - the above grid ?
What ix the missing number ?
fa: 27
ta: 7
b & (hy 26
fe: 9 fe: 23
idr 10 dy 22
P-PFC L-CGJB 16 - A
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23. 25.
T | I8 3T A, B W C O ¥ gt
aﬁm%ﬁmwsoma%‘ra’\gam _
RE

c B
36r :
30t A
I 25} .
el S s
‘E 15 B . E
0} C '.
E ;
o £ 1o 15 20 5 30 35 40 45
Wkm§ —
IR JeRE & e #, ﬁm%ﬁaam
w R #ite : .
1. dsduas AD STAES | |
2. mzskmameBmAﬁm\%'
o |
3. WC%#@E’@'&@?@E’W&H |
Wﬁ%aﬁﬂwmﬂ?@rmﬁﬁ%/%?
(a) &ad 1
) o 13Kk 2
(¢) wad 23R8
@ 1,2 3R B
24. %ﬂnﬁm@%ﬁwﬁaﬁaﬁm
2 B 3 ?
80 24 120 | 36
T H R P
(ay 7
(b) 8
{(c} 9
(@) 10
P-PFC-L-CGJB (17 - A}

WwWw.onestopias.com

Frffad g -wag s W faEr

I & W o W R aifew

UE A AN B o6 TN B & A-HY

afen Ren  arEr 9 & fen § 5gd e

s & | a8 T - Ay 39T

qHar & ?
A

B _
I fRu At oo o GEEE ¥ @ TR
gie :
(a) 4
b} 5
(€)\6
(dy 7

ﬁm%ﬁaﬁy@%u?ﬁaﬁaﬁﬁuaﬂzm
%%@mwaﬂ:{ﬂ?

WAVAVAN
/N\\

g e #§ Pt @ po e o
g7

(a) 27

(b) 26

(e) 23

@ 22
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Directions for the following 4 (four) items :'27. The passage mentions that “thi~ wurld is

. aentiy not meant fur them”™ 1t rofers to
Roued the tolisapiso posside and answer evidently not mex t b
: people who

M et Chut fodlow. Yor QrLswers by,
sty should he based  on the L. seek frecdom from foreign damnation.

2. live in starvation and Minery.
Passage ‘ ) .
S 3. become revolutionaries,

A country under foreign dommation |

stehe Grtane from the present in dreams - Which of the statemiemts\ given above
of & varcdhed age, and finds consolation 1sfare correct ?
i videns of past greatness. That is a ta) 1 and 2

fuolish and dangerous oastime in which !
volisi d K P th: 2 only

man of  ue  indulge. An  equally |
’ e YL G 2und 3

quest.onable practice for us in India is tof
mamne that we are still spimtually fer 3 only

great thouprh we have come down in the |

world in other respects. Spiritual or wny ‘28, Considérthe following assumptions |
other griutness cannot be founded on

r -

A ‘country under forewr domination
cannot indulge in spimtual pursoit.

fackh of frecdom and oppurtunity. or on:

ftarvalion and  misery, Many westers
wrikers have encouraged that notion tifal

2. Poverty is an ‘mpediment  in the

Tadiars are other worldly, I suppose the spiritnal pursuit

poor dand unfurtanate in every €odmtry

Decume Lo some extent other-werldly. 3 Subject peoples may become

ataless they become revoluffonares, for other-worldly.

thes world s evidently ot mearnt for :
them So alvo <ubject peoples, * With reference to the passage, which of

. . the above assumptions is‘are valid ”
As 2 man grdwe th maturity he is

pol ertirely engrossed/'in, or satisfied (a) 1 and 2
with, the extéana! objective world. He thi 2 only
seeke aloog Sl inner mMmeaning, «<ome
. o Lo : ter 2 and 3
peyeholop idu S phy=ical satisfactions.
_— . . 1 [
Sealg W BNpeaplos and civilizations as d 3 only
theviSaapdre  and  srow  adult, Every !
AWlisgtion and  every  people  exhibit 29, The passige themat:eally centres on
iecar Garailel wrreima of ¢ e . s
e Darailil trein __Jf an exterral life : 4 the state of mind of opprossed people
ard an internal e Where they meet or b
1 ; ‘ starval o« M Sery
seem sdoee to each other, there s an starvat.on and misery
equihbrium  and  <tability, When they “¢. the growth uf tiviiization

verst confiet srses wnd the crges that (d: body. mind ard spint of people in

Lorture the mind and spirit gencra!

PPFC L CGUB
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FrefRe 4 (a1 seielt & fore T -

fr=ferRRae erarer @ ufge 3ik 3998 IwRia faw
T FIFI91 & 3R ST | 5 Heien & b
IR adeT SETeT G} & IMENRa g1 aifer |
e
g B 27 RN vy & G+ A &,
a9 98 fodt foga g & woe # ade 9
DR # Wi O & | 98 U

e
g7

.
o
¥
%
_.3_,
o J
:
24

:
3
g”u
39
-
23

st
£
b
3%
%

4

-
1

Yy 4
H

b
i
i1z

i
o
ol
%
§,
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o
T g™
¥
g 8b
oY

Eid
3
1!

3
45
g

o
g ™
£
g
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% o
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§14
-
2
154

:
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i
i .
:
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o %
3
g

27. @Y ¥§ 3G ¢ 5 ug ve WIerT 3G
e S & | o' 3 ol @ Bide o= &,
Sill

1. faRel wym & wadFan @ € |

2. yEW IR g & T A T
3. WiaeN 81 I & |

3w § A S-S U wE 2E 2
(a) 13R 2

(b) e 2

() 23R 3

(d) FHacy3

28. FrafaREd wraael R GuR i -
1N, R mpm & 3 v <o smefos
FEROT | 7 A8 8 FHl |
9. aemka® IRVl § FdHar skl
=

3. YR 39 Wel®-u<ael & 96 © |
TH O 6 Wed W, -l 3udE
HGAl/AFIETe 39 878 ?

(a) 13 2

(b) oad 2

() 233

(d) &aed 3

29. IR daiy & fqvg-awg Fefeiaa 4 9
o dhme ?
(a) 3aqfsa @l & AAEer R
b e IR g )
(0) Txal & g )
(@ | A B o, 7 SR e )

P-PFC-L-CGJB (19 - A)
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30. According to the passage, the torture of !
the mind and spirit is caused '

E

fal

{b)

by the imopact of foreign domination.

by the desire to escape from foreign
domination and find consolation in
visions of past greatness.

{¢) due to lack of equilibrium between

an external life and an internal life.
id: due to one’s inability to be either
revolutionary or other-worldly.

Directions
items ;

for the following 3 (three)

Read the passage given below, study the'
graph that (ollows and answer the three
iterres green below the figure.

During a party, a person was
exposed (o contaminated water. A few
days later, be developed fever andWoose
motion: He suffered for some days before
On !

starting the treatment, heydoon became |

going tv a doctor for tpéuatments
better and recovered@eompletely a few |
days later. The f(dllowing graph shows
different phases of\the' person’s disease
condition aspregions A, B, C. D and K of

the curves

Number of Bagteria

P-PFC-L-CG.JB { 20

31. Which region/regions of the curve
correspond/corresponds  to
phase of the infection ?

incubation

(a) A only

ib) B only

{c) BandC

(d} No part of the curve|indicates the

incubation phase

32. Which region ofsthe,curve indicates that
the began the
symptoms of infeetion ?

person showing

(a) A
b) B
tc; C
(d)y D

33. Which region of the curve indicates that

the treatment yielded effective relief ?

{ay C

(by D

(¢s E

{d) The curve does nov indicate the
treatment

34. There are four routes to travel from

sty A to city B and six routes from
city B to city C. How many routes are
possible to travel from the city A to
city C ?
24
12
10

B

Al
(b;
(c)
'dy

www.onestopias.com
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30. TG B AR, T 3R H@ S GA0N 7|31

HROT T § ?

(a) o=l wpm & qw@

b fe myE ¥ gEE & g AR 9
HE] B T Bed H. i T geT

(© @ s R FaRe fe & 9
e o

(@) A A wemen B T @ 9wt

A O & A D RAS-REu 32.

Frafeifea 3 (7)) werel & fore Ader -

T FERT & AT BT IR MPld F
e e e &= geie & Fox dfow |

R T & wiE 29 ¥ RE o

s Wi o B b § | s |

feat e g@R om M AR T T LTS
oo Al 90 98 gER 3R @& & gt
<, iR 399 Simex 9 &1 o JOR g
B & UER, WY I, AR I L
A 7 3R 97 3o A H fiepa 3 &
o | Frefeiad s # 3w AR o oo
e % faf$m Ro 9% & A, B, C, DT
E 831 % veadem m 2 |

P-PFC-L-CGJB (21 - A}

34.

B TS DH-ABHN T P B
JeHaT TXO1 W 872 ?

(a) Pad A

(b) HIA B

©0 B3R C

(d) T B DI N U I G0 DI R
LGl

o & fra &3 ¥ #im dar & B 39 BRE
# THAOT & FET] eheER YE gu ?

@ A |

(b) B

) C
(@N\D

9% & fou 87 I 3w & € fo R @
FTET @ W g5 P

(a) C

(b) D

(c) E

(d) ugaasmﬂaﬁqﬁm

IR AY TR Baw I & o aR I &
N IR BY IR C 96 N & foe &
TRAE | IR AY IR Cdd TW & fow

 fee TR gva £ ?

(a) 24
(b) 12
(¢ 10
(d) 8
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35. A contract on construction job specifies
a pepaity for delay in completion of the
wouris  beyond a certain date is as
follows 1 € 200 for the Girst day, T 250
for -he scecond day, € 300 for the third
day etc., the penalty for each
succeeding day being T 50 more than
that of the preceding day. How much
penalty should the contractor pay if he
delays the work by 10 days ? '
fa) ¥ 4950
ibi < 4250
ey ¥ 3600
tdi € 650

36. Consider the figure given below and
answer the item that follows :

5
Wy

In the figure shown above) OPl and OP2
are two plune mirrgre'kept perpendicular
to each sther. S ts(the diréction of a beam
of light falling, on the” mirror OP,. The
direction ofpthe| reflected heam of light
from the ‘mirror (JF‘,2 will be
‘a. GBerpendicular to the direction S.
b} At 45° to the direction S.
‘©> Opposite and parallel to the

direction S. ‘
(d) At 60° to the direction 8.

P-PFCL-CGUB { 22

|

37.

38.

A

Consider the following figure and answer
the item that follows -

N

What is the mifiimum Number of different
colours requiredigo_paint the figure given
above such that no two adjacent regions
have the same. colour ?

(a) .3
{b) \4
(c} 6
{d) ©

Consider the following figure and answer
the item that follows :
T

i

-

. 48
Lo

A square is divided into four rectangles as
shown above. The lengths of the sides of
rectangles are naturaf numbers. The
areas of two rectangles are indicated in
the figure. What is the length of each side
of the square ?

{a) 10
(by 11
{c) 15
(d) Cannot be determined as the given

data are insufficient

www.onestopias.com
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35. |
oy & W o gaa § 0 3 foe ds @
fafder fbar man @, S 39 WBR € : TEA
&1 ¥ R 7 200, R &7 & foe ¢ 250,
AR fer ¥ e = 300, 3@ | IRW
wadf feq & fow < e &9 & T 50
afts & | ale od T AR § 10 T
It o € @ 3BER @ b €8 ey
BT T ?
(a) T 4950
(b) T 4250’
(©) T 3600
(d) %650

36. I & T Ipld | R Hfw 3R @
gz fee e 9EEiRT & IR QA -
FR & W Pl #, QP AR OP, & wHaeT
afui & 3 vH-TN & HgeE W@ € | OP,)
gdur W g Wore 931 B e S ' |
DY 7 OB el & Wafi Ferer gt ot i
Far alteg
(a) S Teen & 3rqEa
b)) ST & 45° W
() S fEr s e sk wmidw
(d) S femd60°

P-PFC-L-CGJB

WWW.onestopias.conn

feat Pl & wiea #, v FeiRd

(23 - A)

37. %aﬁmmwm@km

ugarq e e gt & 7R Al

IR A 7 anela # o el O & Froscadt
&3 T v ofT 1 AELMAT & a1 §9 Apid
A 41 93 & e &9-Q-57 fa srem-s@n
i B SRR R ?

(a) 3

by 4

) 5

{d)\6

LN & T IR R faar $ie SR 3ud

Tz e Mo e & FR A5 -

15

48
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39. A person has only 2 1 and 2 2 coins with 142,
her. If the total number of coins that she |
has is 50 and the amount of money |
with her is ¢ 75, then the number of € 1.
and ¢ 2 coins are, respectively
tay 15 and 35 l
‘b* 385 and 15 ,
fei 30 and 20 i
4 25 and 25 ‘

1
E

40. Three persons start walking together l
and their steps measure 40 cm. 42 ¢m 43.
and 45 om respeetively. What  is the !
minimum distance vach should walk =o'
that each can cover the same distance !
in complete steps 7 l

|
‘a)l 2bm 20 em |
i
th: 50 m 40 cm |
ic) 75 m 60 ecm |
i
‘d 100 m %50 cm |
!

41.

a train travels \320 km in 5 hours at |
uniform_specds, “then what is the ratio!
of the distanees travelled by them in'
one®bour

‘ar B 5

thy 58 f
‘¢l 4.5 i
dr 1:2 !

P-PFC-L-CGJB { 24 -

A

There are 100 students o a particular
607~ students play cricket, 30¢
student play football and 10°: students
play both the What the
number of students: who play neither
cricket nor {notball ?

class,

games. 15

‘ar 2B
{th: 20
{ey 18
(dy 15

A wallage_having a population of 1000
requizgs 150 litres of water per head
per day. It has a
20m x 15 m »x 6 m.
tank will last for

tank measuring
The water of this

tal 2 days
‘bt 3 days
‘tt 4 days
‘dr 5 days

If a bus travels 160wk in 4 hours and . Directions for the following 4 (four) items :

Read the following passage and answer
the items that follow. Your onswers to
these iterns should be based on  the
puassage only.

Passage
A specics that exerts an influence
out of proportion to its abundance m an
ecosystem is called a keystone species.

The keystone species may influence both

www.onestopias.com



www.onestopias.com

39,

- 40.

41.

P-PFC-L-CGJB

tsARP S UM T 1aw T 2 Has € |
gft 3w o oo 50 faas & SR gai@
z 752, &Y 39 U T 1 aw T 2 % f9ad!
B T HEar .

153k 35 & -
®) 353R 158
© 303208
25 3% 25 &

(a)

(d)

9 s 0F QY cEerl IRY I & adr
b Al & AT HHIE 40 cm, 42 cm AT
45 cm € | T @it oo gEam
qs T e TS A |HE g @ o
WO AR IR A ?

{(a2) 256 m 20 cm

by

(¢) 75 m 60cm

50 m 40 cm

(d) 100 m 80 cm

IfS wH-FHF T, A I IR UF §9 4 °e
¥ 160 folt A T B & qAT vH WS
5 8¢ H 320,000 g a9 H §, & b
g1 v \Ue Wit @ T gRal # an
IS

() 8:5

by 5:8

(c) 4:5

@ 1:2 | | -

42,

43.

{25 -~ A}

35y wen o frenfrdl & e 1002 | 60%
fremeff fsdpe Ao &, 30% faardl geald
e & gt 10% Aol A @ Qe € |
Y et &) e @ & s 9 A Boe
@ & 3R T & Feaia Werd € P |
(a) 25
(b) 20
(¢c) 18
(d) 15

US T & FaEa w00 # ras e ufa
ZR6 WEA150 TeR S @ JNagaddl
2 | 9% ([@Heue T @ ddr 2 T
WZOmxl5mx6m%lﬁﬁZﬂa
maﬁﬁmﬁﬁ#ﬁwm?

@2 = 8
by 3
(¢ af=i &
@ 5t

\ Fefifea ¢ (aR) ge=iet & foe R -

FrafiReaa arer @) ofer 3R Fa@ IRIT
Rr 7w geaiel & FoR Aw | 37 g & .
TS FR T AEE W & ERa &
Fifee |
TR

v T o N oRfefad-dz &
HTN TRl B U F T TR AWE STt
¢, R SRR (B R Ber 3w R |
i (Brem) Ffd, snfa B wged &l
Tyt au aRRefS-dE § @ra Fa 3R
Tert & YR @) wIidd o) GE & | SR
o’ oEdeY AERfyaw W, Ao I
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the species richness of communities and |44.

the flow of energy and materials through
ecosyrtems.  The sea  star  Pisaster
ochraceus, which lives in rocky intertidal
ecosystems on the Pacific coast of North |
America. is also an example of a keystone
spectes Its preferred prey is the mussel
Mytilus californianus. In the absence of f
sea stars, these mussels erowd out other

competitors in a broad belt of the

intertidal zone. By consuming mussels,
sea star creates bare spaces that aalre:r
taken over by a variety of other species. t

A study at the University of
Washingtsn demonstrated the influence of |
Pisaster on species richness by removing)
sea stars from selected parts of fthe
intertidal zone repeatedly over a périodyof !
five years. Two major changes eecurred in r
the areas from which seal stdrs) were
removed. First, the lower sédge” of the
mussel bed extended farthey”down into
the intertidal zonegfShewing that sea stars
are able to eliminate mussels completely
where they are covered with water most of j
the time{Second, and more dramatically,
28 dpecies) of animals and algae
disappeared from the sea star removal
Mytilus, the

dominant competitor, occupied the entire

zone Eventually only
substratum. Through its effect on'|
competitive relationships, predation by}
Pisaster largely determines which species

live in these rocky intertidal ecosystems.

P-PFC-L-CGJB (26 - A)

45.

i46'
f

What is the crux of the passage ?

(a) Sea star has a preferred prey.

(b} A preferred prey determines the
survival of a keystone species.

{c) Keystone species ensures spectes
diversity.

{(d) Sea star is the only keystone species
on the Pacifigecoasty of North
America,

With reference”to\the /passage, consider
the following statements ;

1. Mussels are gencrally the dominant
speties 1n intertidal ecosystems.

2. Thé survival of sea stars is
generally  determined by  the
aAbundance of mussels.

Which of the statements given above
is/are correct ?

(a) 1 only

‘b)y 2 only

{c; Both 1 and 2
(d) Neither 1 nor 2

Which of the following is/are implied by

the passage ?

1. Mussels are always hard
competitors for sea stars,

2. Bea stars of the Pacific coast have
reached the climax of their
evolution.

3. Sea stars constitute an important
component in the energy flow in
intertidal ecosystem.

Which of the statements given above
is/are correct ?

{a) [ and 2
(b} 2 only
{c) land3
{d) 3 only

www.onestopias.com
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44.

45.

46.

(27 - A)

FE H I FE ?

(2) TIA AR W A TH T
qar g | :

b) ﬁﬁm(aﬁ@?)maﬁﬁﬁﬁm
g frer ¥ Freifa @@ g |

@ T RS F T FEIRINE ®
;muamaga—a'ﬁﬁm' (BT
|

vigat & argeaar & FafRa & @ |
IR & ¥ BE-F/HT-T B Y B/ ?
(a) ﬁi‘dﬁl
(b) &I 2
(@ 13R 22
@ JFdr1sRAd 2

frafofag § ¥ SF-0F T/ T aE

TR b 2T &8 § ?

1 ﬁgﬁmw&ﬁaﬁaﬁaﬁ'{m
g &A@ E
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47. Consider the following assumptions :

1. The food chainsfood web in an
ecosystem  are  influenced by
keystone species.

2. The presence of keystone species is
a specific characteristic of aquatic
ecosystems,

3. If the keystone species is completely
removed from an ecosystem, il will
lead to the collapse of the
ecosystem.

With reference to the passage, which of

the above assumptions is/are valid ?

(a) 1 only

(b} 2 and 3 only

(e} 1 and 3 only

{d} 1,2 and 3

48. Consider the following argumentys

“In order to be a teafher on€ must

graduate from college. All poets are poor.

Some Mathematicians “are poets. Nol

college graduate i§ poor!”

Which one of the following is not a

valid conclusion regarding the above

argument 2

(a), Bgme  Mathematicians are not ;
teachers,

(b) Some teachers are not
Mathematicians.

{c} Teachers are not poor.

(d, Poets are not teachers.

P-PFC L-CGJB { 28 -

49,

60.

51.

A

A student on her first 3 tests received
an average score of N points. If she
exceeds her previous average score by
20 points on her fourth test, then what

is the average score for the first
4 tests ?

(a) N + 20

by N+ 10

(c) N+4

(d Na+5

In a group ‘ef persons, 7% of the
male and 30% of the
persons_are ‘married. lf two-sevenths of
the,malessare married, what fraction of
the, féemales is single ?

persons,, are

(a) 2/7
(b} 1/3
(c) 3/7
(d) 2/3

The houses of A and B face each other
on a road going porth-south, A's being
on the western side. A comes out of hijx
house, turns left, travels 5 km, turns
right, travels 5 km to the front of D’s
house. B does exactly the same and
reaches the front of (s house. In this
coentext, which one of the following
statements 15 correct ?

fal C and D live on the same street.

{b, C’s house faces south.

(c) The houses of ' and D are less
than 20 km apart.

{d) None of the above
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48.

o WW W.UllEStUDiaS.CUIII .

FerfifRad Argamt ) AR S -

. oRRefEdE 8 @m-gEeEE
e, ateren (PICH) Sifer § wiaa
B E |

2. Honfuen (FRF) T Bt IuRAfd
aﬁawﬁﬁmﬁaﬁaﬁaﬁu&sﬁﬁa
Redra & |

3. af P aRReRiddr & gofer

(@) s & guier geT e S,
1§ a5 TRFfaE-d7 feepe eava
2 Fmm |

Hﬂﬁﬁ@ﬂﬂi'ﬂ‘cﬁ?ﬁ ﬁqﬁim
AGAT/AaAe de g8 ?

(a) &ad 1

(b) Faa 23R 3
(¢) Ham 13k 3
@ 1,23R 3

Rt gfts T Rk BT

“AEUE BN F o0 Bielol@l Hiad BT
avas & | o o A da € 1 o'
TEs Bfd 89 B\ P35 Dloia B Hab

R A g

T oRh s § Prefled § 9
o pdy e 78 & 2

(a) FOOERT 3T TE ¥ |

® TE WA NS FE o

P-PFC-L-CGJB

{c) s el w8 € |
(d) T FAUS Tl © |

49,

50.

51.

{29 - A)

O W AN wiEen ¥ feE eEn &1
fad wdie N 3% & | af 98 s O
wewr # Uea i uaie 20 IS
Ao T R &, A Y IR KIS0 &
sitaa wrais F&ar g ?

(&) N+ 20

(b) N+ 10

(e} N+4

(d N+5

TREd $ v wgENd, _70% =it gom &
3R 30% s fafda & 1 ofd goal &
o/7 v faafeay @, o wieemt & foan
wm afiaRa @77

(a) 2/7

M) /3

(c) 3/7

D) 2/3

FR-SfE0T ST 0F G956 WX AFH-AEE A
By RE ¥ A & o udad 3R
g1 AT W { IR N €, M gg
£ 5 km womal &, @ gogan &, 3R 5 km
TR DFRS I I ANeE | B
F I R A MEINRCTFRE

Y o o & | 39 wad A, PrmfiRad

ﬁ'@taﬁq-wuasasm'ﬂé’l%‘?

) CIRDo & Todo W& € |

b) Casuzasrg@af‘ama?rm%l

) CIAR D P W BTN ¥ 20 km &
THTUWRE |

@ 39 W | B T
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Directions
items : ;

P-PFC-L-CGJB

for the following 5§ (ﬁve)i

Read the following passage and onswer
the itemis that follow Your answers o
these storia should e bosed on the PHERSELG
only.
Passage ‘
Now India’s children have a right ;
to recenve at least erght years of education.
the gnawing question is whether 1t wi”]
remain on paper or become a reality. One :
Aardy needs o reminder that the riht
ts different from the others enshrined in
the Constitution, that the benefi¢iary

“a six year old child cannot demand :t, norf

car she or he fight & legal battic whvné P
i52.

the right 1+ dented or violated, In adl Casesy ﬁ

it is the adult society which must acthon

behall of the child, in anotfer pecudiarity, '

where u vhld's right %l eddcaton i

deried no compensBtitn offered later can ,

This 15 =0l

relevant. i

be adequate or
because ehzldhaod does not last. If a ll-ga]:
batile _tought on behalf of a child - l
evertuufly Worn, it muy be of little use to i.
the wovwor wirl because the opportunity
missed a1 school during childhoed cannot

serve the =ame purpose iater in life. Ths

may be painfully true for girls because

our socicly permiis them only a s'hort[
1y

{30

childhood, if at 4l The Right to
Education (RTE. bax become law at a
point in India's history when the ghastly
practice  of femaic infanticide has
resurfaced in the form of foeticide. This
s “symptomalic of a decpér turmoil” in
society which ¢ “demnpounding  the
traditional obstd¢les to/the education of
girls. Tenaciows prejudice against  the
intelleckual potentiu] of girls runs across
our culttiral diversity and the system of
edacation has not been able to address

it.

With reference to the pussage, consider
the following statements -

. When children are denied education,
adult sucitety doc~ <ot wct on behalf
of them.

2 Right to Education as a law cannot

be erforced in the country,

Which of the
isfare correct ?

statements given above

{a) 1 only
‘hi 2 only
(¢c; Both ! and 2

{d) Neither 1 por 2
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fAfeRaa 5 (darea) mearen & fore fAder -
ffoiReaa araier @ ufge 3Rk 399 39Rid
fev e ge=ren & I Eifore | 57 geaen &
3 JER PacT @G WX & smenia
T | -
e

7§ Fae YR F gl B g S
aaf o Fram wRor 9 @& ISR Ta
8 T &, O% deeie W WA & 5 @
3T ARGl B B9 O B | IR I
e & o & swa @ 5 ar fer
Higes § wiaeiiud 3= SESRI 3 3
2, e zuer awell - 9% & adfg
/g A ar T’ R gabal/ar
"9 @ 39 AR ¥ dfug @W stEr 3
JeaT BN R BT w88 o8 /Gdgryan 02
g ) o Ter ¥, ov salaEeLE #
R s o IR A srRiaene ||
T fomeor s T A B, T o s
T Rem & R AT o Fmn &,
dq g 3 feaparan o W gamaEsn w5 oar
T F SR & woar & | b st
¢ & dieaaen s 6 |l | gt
FRNDNIIR F &= E B e 3idar
S| 9 o S §, 99 0 U8 39 6w
o1 aferar & foe foet am & T8 &
Fife qregewn d [Juea &1 3 dEER @
gel B ¥, 98 e ¥ 9w & a§ N

P-PFC-L-CGJB ‘ ( 31 - A}

T oW » foe sm AE 3 waar |
€ gEd WU wftmni & e e
Jfte W @ wifs IR 9O & N
32, o T ot & @ seu areamEEn
& oy & 1 9Rag e A e &
AER A 3@ gor H O SNET aro
fean 8, To A Ec & T
T YOT B & POOMGE PR AR I
? | o8 ¥ H AR faaw @1 gue”
2 3 afeei o fem F 3™ e

| RO e & 9 eex 3 R sd

@ ¢ )\ e & difce amar & Tog

e, RIS JEITR §9RI W wiephies fafaemr

¥ i & aen foEm yonen 39 R @& UM

¥ oaemef @ ¢

SRt 3 ek ¥, FrefiRen o ) RER

e :

1. maﬁﬁﬁrm#aﬁawm%
IO TS I IR A B BIAE!

TE B |

C 2. 29 H fEvem @ fYeR ot & e #

vafaa A8 fear S a@an |
30 | | B R o W e ?
(a) ot 1
(b) &acl 2
(c) 131k 2@
@ Tar1kade
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55.

1586,

83.  According tu the passage, what could be
the  traditiunal ohstacles  to  the!
erducation of wirls ? '
L. Inabibity of parents to fight a legal

hattie when the Right to Education
1= deraed W ther children.

2. The traditiona! way of thinking

abot girls’ role in society.

3. The preiudice against the '

ine ellectoal potential of girls. \

1 I proper svaem of education.

Select the correct answer from the codes

mven bolow

ra: 1 and 2 only

b 2, 3 und § anly

¢ 1, 3 und 4 anly

d ! 2 {andg 4

]

54. On the bass of the passagé, coflsider the
followin: <laterments
I. Right vy Eduvdtion is\a legal right and |

not a fundamental pight.

2. For redhising the goal of universal
education, the cducation syster in the
colnyt ry, minist be made identical to that
of'devieloped enuntries.

Which of the statements given above -

f~ are correct 7

t
ca. L ondy ‘}

‘b ¥ oonly :

fc; Bot» | and 2 !

fd* Neither ! nor 2

!

P-PFC-L CGJB { 32

A

Which one of the followmng statements

conveys the key message of the

passage 7

(a) India has declared that education is
compulsory for its children.

{hy Adult society is_ not\ keen on
implementing the Right to
Education.

(c+ The Right tesléducation, particularly
of/a girl child, needs to be
safeguarded.

(dy \The system of education should
address the issuc of Right to
Education.

Which onc of the following statements
conveys the inference of the passage ?

{a) The wsociety has a tenacious
prejudice against the intellectual
potential of girls.

{b) Adults cannot be relied upon to
fight on behalf of children for their
Right to Education.

{¢; The legal fight to get education for
children is  often protracted and
prohibitive.

(d; There is no sufficient substitute for

education received i childhood.
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54.

P-PFC-L-CGJB

“WWWw.onestopias.com — -

drarer ¥ AR, AT b fen w e

# WORAT qTen qul-Fr § P

1. wa-fiar gry, v sl & Rrer &
IR & i @ IH W ErE
o815 @8+ W armefar |

9. W # afcmel & yiie & fava §
wieardl | | '

3. afreni @ dfss emar ¥ Reg

e |
4. %mﬁaaquwnﬁ‘rl

ﬁﬁﬁuwgca%mﬁvé‘rmgﬁv
(a) &adA 1‘3ﬂz2

(b) e 2,33 4

(c) oaei 1,33 4

(d) 1;2,33K 4

dE B WER ®R, PrRmeas/m )
frar #if5w - |

1. %mﬂﬁw%ﬁmm%‘.ﬁ'

ABR TET |

2. ¢ foen PiEea & @ w7 & foe,
o1 &1fen yonel o fastag et o
remaune ® T9H S5 AETaS ©

I B A/ T wE BE P

(@) PadT 1

(b) A 2

@ 13k 23a=

(@ JTAM1R T 2

(33 - A)

55.

56%
% Y B TRe wRar P

Frafafaa 4 § S9- ooF 39 o &
el e B B BT & ?

(a) RO g UM X & & f6 3w &
godt & foe fran sfEd &

(b) o THIS fen s SfteR @
Fraffad & T 35T T € |

(c) Tam & @R Wi lddvax aifamsi
e, T BT INaIE 8 |

@ FRrensonen o Riem & steR & 98
& wii I~@ g aifge |

mﬁﬂﬂqmwmgﬂm
(a) A7 Sifciensil o difes amar & o
vE U qEUE ¥ U @ !

(b) =i & fer & seR & fov dud
tg T R WA A e
e |

(¢) @ @ Fran ke &g e @R
Tgen wa ok e Bk 2 |

@ R 3w 8 e e o1 B
0 gafa wferemue =& & |
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Read the following passage and answer
the 3 (three} items that follow :

A, B, C, D and E are members of the |

same family. There are two fathers, two
sons, twoe wives, three males and two
females. The teacher was the wife of a
lawyer who was the son of a doctor. E is
net a male, peither also a wife of a
professional. C is the youngest person in
the fumily and D ts the eldest. B is a

Read the following passage and answer
the 3 (three) items that follow :

In a survey regarding a proposed
measure to be introduced, 2878 persons
took part of which 1652 were males. 1226
persons voted against the proposal of
which 796 were males. 1425 persons voted
for the proposal. @@6 | females were
undecided.

60. How many/ femaleS voted for the
proposal ?

male, {a} 430
, - {b) B00
57. How 15 D related to E ¢ (c) 894
ta}) Husband (dy_pud
61y, How many males were undecided ?
(b Son
ta! 31
{¢y  Father (b} 227
‘ (c) 426
‘dy Wife
(d} 581
62. H fi le re not in f f
58. Who are the females in the group/ | th(;wpx?(:;gga} (??ma ¢8 were not n favour o
(a) C and E {a) 430
(b} 496
iby C and D (c) 586
(¢} B and A (d)y 1226
4 P ;63. In a queue, Mr. X is fourteenth from the
ald LN r front and Mr. Y is seventeenth from the
end, while Mr. Z is exactly in between
59. Whose wife is the teacher ? Mr. X and Mr. Y. If Mr. X is ahead of
Mr. Y and there are 48 persons in the
wa) C queue, how many persons are there
between Mr. X and Mr. Z ?
‘b: D @ 6
(c) A i ) 7
i {cy 8
‘dv B , (d; 9
P-PFC-L-CGJB {34 - A)
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Frfifea e @) afge R Fwe geary Re| PR ot o 9 sk swd gearg Re
w3 (d=) weie & Fo Hw | e 3 (A7) geen & Jox dAw -

~ A,B,C,DUW E T & WRaR & wew
gl dgx d, & ofedi € &
g3y ¢ 3R Q1 fedf € 1 sreafier 0w ae
B g ], YT IS U S B Y & |
E QoY 981 & 3k 7 & 9 0 wawrh |
ue # | tRar % ¢ 959 @9 3@ & & HR

DA TSI & | BUD 9 & | co

57. DHIEY ol Ga=<I & ?
(a) 9fd
(b) T | - é1.
(¢ T
(@ i

58. 39 @g A fedi dw-al E 7 62
(a) C3HRE
b C3RD
() E3RA |
@ DR BY\ ' | 63.

59. ﬁwa%ﬁaqwﬁm%?
(a) c

(b D
(cy A
B

(d)

P-PFC-L-CGJB ' (35 — A )

qA @ 3 W b T e wdeor #2878

ofewdt 3 fewm o i 1652 @ & |

1226 TREAT ¥ WEA9 & foogaa e,
i A 796 o9 A | 1425l A e
& Uy ¥ wa femr | 196/ Radt sf=ia o |

R Rereit & s % e o 7t R 2
(a) 430
(b) 600
(c) 624
(d) 640

Poghgen sl & ?
(&) 31

~(b) 227

(c) 426
(d) 581

. oo Rt weaE & aer # &Y of ?

{a) 430
{b) 4986

(c) 586

(d) 1226

fey 9fts &, S X 9 @ 149 wrE W)
gk A YIa ¥ 173 o & Tl
MAE Z, A X AR A Y S S meg A
2 | fmm X afe fiwm Y & oam € ek ofw
# P 48 If6 €, o A X 3R A 2%
&g foem afw € 2

(a) 6

by 7

(c) 8

d 9
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Directions for the
items :

www-onestopias-com

following 9 (nine)

The followring ninv itrms ‘Questions fi4 to
72) are bosed on three passages in
English  to test the comprehension of
Engiish  longuage and therefore these
items do not have Hindi version. Read
cach possoge and answer the items that
folloa. |
\

Passage-1 |

He walked several miles that day but |
coule not get anything to eat or drink
except some dry bread and some water,E
which he got from cottagers and farmers.
As night fell. he slept under a haystack'
lying in a meadow. He felt frightened at ;’
first, for the wind blew awfully over the
empty fields. He felt cold and hungry #And|
was leehing more lonely than he had ‘ever
felt before. He, however, soon féllMasleep,
being much tired with hig long walk.
Wher he gut up next day! he way feeling
terribly hungry =o he purchased a loaf of
bread with a few coln%*that he had.

64. When the night fell e slept
tay  n tHesopen Aeld '
tby under‘a pile of dry grass )
{ciginya farmer's cottage
fda “uader « tree
65, He soun fell asleep because
fa) he was exhausted
‘b1 he was all alone
“¢.  hu had not slept for days
:d: he was very frightened
P PFC L-CG.B { 36

66.

Al

With reference to the passage consider
the following statements -

1. He
countryside,

was walking through the

2. The cottagers and farmers gave him
enough food so thaf\be could sleep
at night withoutefeeling\hungry.

Which of the statements given above
is/are correct ?

{a} | only

{b} 2 only

{c} Both™1 and 2
1d) “Nefther 1 nor 2

Passage-1I
I opened the bag and packed the

boots in; und then, just as | was going to
close it, a horrible :dea occurred to me.
Had I packed my toothbrush 7 I dont
know how it but 1

whether I've packed my toothbrush,

is, never do know

My toothbru:h is

haunts me

a thing that

when Pm  traveiling, and
makes my life a misery. | dream that [
haven't packed it, and wake up in a cold
perspiration, and get vuat of bed and hunt
for it. And, in the morning, [ pack it before
[ have used it, and 1 15 aiways the last
thing I turn out of the bag: and then 1
repack and forget it. and have w0 rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up
in my pocket-handkerchief.
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Erafife 9 (7) seien & Pre fder :

64.

65.

P-PFC-L-CGJB

Seffad 9 () geaier (veier 64 @ 72)
357 & diT v Wk srenRa & 3k sish
w9T & §ied & g & fow & 1 s 54

weren @7 ’=h oz & Rar s e @ 1|

g Faier gige aur FfiRaa geien &
37 aifae |

Passage-1

He walked several miles that day but

could not get anything to eat or drink|

except some dry bread and some  water,
which he got from cottagers and farmers.
As night fell, he slept under a haystack
lying in a meadow. He felt frightened at
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was feeling more lonely than he had ever
felt before. He, however, soon fell asleép,
being much tired with his longsWalk.
When he got up next day, he was feeling
terribly hungry so he purcha$ed & loaf of
bread with a few coins that.he had!

When the night fell, heslept
(a) in the openfield
(b) undera pile\of dry grass

{¢) in anfarmers cottage

(d) qunder a free

He soon fell asleep because
(a) he was exhausted

(b) he was all alone

(¢} he had not slept for days
(@) he was very frightened

(37 - A}

66. With reference to the passage, consider

the following statements :

1. He was walking through the

countryside.

2. The cottagers and farmers gave him
enough food so that he céuld sleep
at night without feeling hungry.

Which of the statemefits given above
is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
{(d) Neither I nor 2

Passage-11

I opened the bag and packed the
boets in; and then, just as I was going to
close it, a horrible idea occurred to me.
Had 1 packed my toothbrush ? I don't
know how it is, but 1 never do know
whether I've packed my toothbrush.

- My toothbrush .is a thing that
haunts me when I'm travelling, and
makes my life a misery. I dream that I
haven't packed it, and wake up in a cold
perspiration, and get out of bed and hunt
for it. And, in the morning, I pack it before
I have used it, and it is always the last
thing I turn out of the bag; and then I
repack and forget it, and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up
in }ny pocket-handkerchief.
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67. When he was going to close the bag, the
tdea that occurred to him was
tai  unpleasant
‘b sad
¢ fuantastic
‘d}  amusing

68. What makes his life ouserable whenever
he undertakes travelling ?
‘a) Going to raillway station
‘bt Forgetting the toothbrush
«" Packing his bag
d; Bad dreams

69. His toothbrush s finally
‘ar 1n his bag
‘b1 in his bed
ic; 1n his handkerchief
td:  lost

Passage-1l0

fn spring, polar bear mothefs emerge from
dens with three month%oM cubs. The
mother hear has fastedyfor as tong as eight
months but thatidoes/rot stop the young
from demanding full access to her;
remaining \résepves. If there are triplets,
the most (persistent stands to gain an
exfra meai and it may have the meal at
the expense of others, The smallest of the
bitep forfeits many meals to stronger
ziblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only unce seen the smallest of
triplets survive till autumn

P PFC-L-CGJB { 38 -

70.

71.

A

Female polar bears give birth during

‘a) spring
h; summer
(c} autumn
d) winter

Mother bear

{a} takes sides over cubs

(b) {ets"the cubs fend for themselves

el feeds only their favourites

(d) sees that all cubs get an equal share
With reference to the passage, the

following assumptions have been made -

1. Polar bears fast as long asz eight
menths due to non availability of
prey.
Polar bears
triplets.

always give hirth to

Which of the assumptions given above
is/are valid ?

fa) 1 only

D) 2 only

(¢} Both 1 and 2
{d) Necither 1 nor 2
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67. When he was going to close the bag, the |70. . Female polar bears give birth during
idea that occurred te him was
(a) spring
(a) unpleasant
(b) sad (b) summer
{¢) fantastic (c) autumn
(d) amusing (d) winter
68. What makes his life miserable whenever
he undertakes travelling ? 71. Mother bear
(a) Going to railway station
(b) Forgetting the toothbrush (a) takes sides overgubs
(c) Packing his bag (b) lets the eubs fend for themselves
(d) Bad dreams '
' (c) feedssonly their favourites
69. His toothbrush is finally '
) (d) “sees that all cubs get an equal share
(a) in his bag :
(b} in his bed
. 72. /With reference to the passage,
(c) in his handkerchief i .
following assumptions have been made :
{d} lost
P - 1. Polar bears fast as long as eight
assage- months due to non-availability of
In spring, polar bear mothers.emerge from re . :
dens with - three mofith old cubs. The prey:
mother bear has fasted\for as long as eight
. i jirth
months but that dees not stop the young 2. P(‘)lar bears always give birth to
from deman@ing~full access to her triplets.
remaining teserves. If there are triplets,
the mpStupersistent stands to gain an Which of the assumptions given above
extra mealand it may have the meal at is/are valid ? -
the expense of others. The smallest of the :
litter forfeits many meals to stronger (a): 1 only
siblings. Females are protective of their
. o (h) 2 only
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar (¢) Both 1 and 2
bears, I've only once seen- the smallest of
triplets survive till autumn. {(d) Neither 1 nor 2
P-PFC-L-CGJB {39 - A)
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Directions

the

for following 8 (eight)

items : ‘

73.

P PFCL-CGJB

Given beluw are eight items  Kach iteni |

!
describes a situation and is followed by*
Indicate  the |

four pussible  responses.

meost

respon=e you find apprupriate.

Choose only vne response for each item.

The rexporsies will be evaluated bosed on
the 'eiof op ecppropriateness for the 'gi[wni

attusalion.

Please attempt all the items. There is |
no penalty for wrong answers for.

these vight items. [

Y(J'u
explanation
important

asked
not

have bheen to  give \an

‘or attending  an

official rmectin;:, Your

mmediate boss who hag” nét informed !
you about the meeting\is” tow putting
you o 110t o

allesation against”him/her. You would

pressure  on place an |

‘a  =end a WritteRreply explaining the
fael,

!

‘b WCeR N appointment with the t.opi}-

buss ‘o explain the situation. '

¢ admit  your fault to save the

sitaation,

¢ put the the

!
coordinator of the meeting for not:

responsibility  on

tnforming. [

( 40 -

74.

75.

76,

A

A local thug (bad element; has started
legal construction oun your vacant plot.
He has refused your request to vacate and
threatened you of dire consequences in
case you do not sel! the property at a
cheap price to him. You would

ia; scll the property awa cheap price to
him.

{b; go to the polite fifynecessary action.

‘¢ ask for hélp framdvour neighbours.

‘d} negotiate\wilh the goon to get a

higher price.

You have to6 accompiish a very imporiant.
taskwforsyour Headquarters within the
next’ two days. Suddenly you meet with
an accident. Your office insists that you
complete the task. You would

{a) ask for ar extension of deadline.

{by inform  Headquarters of your
inability to finish an time

{c; suggesl aiternate perscn to
Headquarter= who may do the
needful.

{d; stay away tili you recover.

You are an officer tn-charge for providing
basic medical Facilities Lo the survivors of
an earthquake aftected area. Despite your
best possible effort, people put allegations
against you for making money out of the
funds given for relief. You would

ta; let an enguiry be set up to look into
the matter.

{b; ask your semor to appoint some
other person in your place.

{¢} not pay attention to allegations.

i stop undertaking any initiative il

the matter is resolved.

www.onestopias.com



www.onestopias.com

WWW.onestopias.com

Freafifiea 8 (370wl & fe Bl -

73.
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Hia ane geer By e & | gedd geier |

v Rerfa &1 avfa @, 5raa vearg 39 ar
oy v fae & | o IR @ 3
waffers Juges A 8, 39 3T HUT IR B
w7 # sifea difow | gda weier & fow
FaeT v ¢ FAR ghT | FRI @1 qodiad,
& i Retfr & fere Jugepar & &) & TR
g% fFar ST |

puar wH geien & I) dMaw | 5T IS
yorelt & fore e IRl & fw @i @s
T &

vh eyl YeRe do% W IR T
B9 % HRU O TR WLIEI0T HA
g | el I sl e
TP T o O FAFORI TE o A 3%
AT R I & SO @R £ (fb.eu
TO@T AY 39 R FEl Sl | UHH S an
A ?

(a) @ @ TrE B geeaw fulEa
3T Nell

S iR, T B Rerfd 3 v
FRD\T0 3 e B gHg # |

(b)

fofd & 9wem & o s <
AR T |

(c) -

BTF T IHETS W maﬂ’a'ca
e & 5 33 doo @ SreR T8
ar

(d)

(41 - A

75.

76.

(b) ITTTTS HAAE & few ferw & T

TN |

(c) 3O URITGAT | Hee HAR |

(@ 39 3 A 3R Mgy o ™ & e
IHY SIgEa &4 |

s A AL A H & foae @

s o @yl &I X &R € | 3EE &

3 B 3 & | 39 Sraad A

TRE ARSI & & b 3171 1 &1 g0 aN |

T 3T T T P

@ oW g B o sifor AR am agm
Ik whA | '

(b) 3 =T B gfuad W B
T FI QU aR I A IRmI &1

(c) 3N YAy & 0F doicad s &
T N S B IR &R [l 7 |

(d) OF B 5 e & I |

o v yoT wuifda a3 § yHu & IR

ks e e

YEH & & e Mﬁwﬂm

far T & | A W GHA IV B

SESE, T AE FUR Tg AR @ @ & b

IMIEA S e A W IMITR sNEE |

O 3y a1 BT P

(a) T TN 5 3@ Wy A Sia-usar
RY B FE |

(b) 39 IR ISR F FdeT S 16
IS WH R fHa TR AR @
g a2 |

(¢) 3 FRMU R DS & Fal < |

(d) 9 G5 HE GO & ot o A
I B B el B |
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You have been made responsible to hire | 79.
boats= shurt
ander

notice to be used for
flood. On the
price mentioned by the boat owners you
found thar rthe

approximately three
the rate of the
You

at a

an areu secing

wowest  price  was

times more than

approved (rovernment.

would

‘a rerect the proposal and call for a

fresh price.
accept the lowest price.

refer the matter to the Government |
and wart,

threaten the boat owners about a -
possible cancellation of the licence.
You are the officer-in-charze of a v-'aﬂ:—agel
administering distributions of vaccine in '
an isolated epidemic hit villafe, ang”
left  with
There i+ a requirement of that yaccine
the A 'iSO.
poor villager Yuu are being pressurlsed;
by the Eradban the
vaccine to hom  You would

you are only  op@” vactine. .

from Ciram  Pradhén fand” al-o

Gram to 'ssue

far initiate the procedure to expedite
the @exnsupply without issuing the |

vaecine to either. I

. . . 1
arrange vacoine tor the poor villuger

from the distributor of another area.

‘¢t ask both to approach a doctor and’

get ap input about the urgency. :

|

d the Gram®

|
Prachan from the distributor of

arrange  vaccine  for

another area

(42 A

l

You have taken up a project to create
niht sheltors peuple
during Within a
week shelters,

for NNUiens

the  winter  scason.

of establizhing -~ you

the

residents of the area about the incresse

have reveived complainty  from

in theft cases with a demiand to remove
the shelters. You wolild

(a) ask themswto lodge a  written
complaint in the police station.

by agsure residenis of an ¢nquiry into
thesmatter,

fe:\Wask  residents to consider  the

humanitarian effort made.

d continue with the projeer and igrore

their complaint.

You,

have

as «n administrative authorny,
by the

dauzhter-ir law of an nfluential per-un

bewn approached,
regarding “arassment by her in-laws on
of Her
parents are not able to approach you

account insufficienit  dowry.

because of sovial pressures. You would
()

call the in laws for an explanation,

‘b, counsel

the lady to adjuxt, given
such a circamstance,
‘¢t take  action  afier  her  parents

approach you,

‘d: ask ber to lodge s complain: with
the police.
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W’

S ag-fEd &9 § S A YO W
Hiei 9B ) o @ afaa T mar &
Her-Afcidl gRI §d T AT D IE
R IY UM § [ ~Eaw oed ReR B
FARd R A o A T SfUE ®
U 3T T AR ?

(a) 3B WA D E B A O
HirEmen |

(b) RIATH BIFd B WPR I & |

“(¢) HAHA B AR & U AF a0 3R

TR B |

(@) Aol & gadt N B I
TEHH € 8 FodT &
TE Fed FemR-dfka e # sm

A-FRIgE AP B e == el g |

et € 3R v U Faw e B
J-FRIgS T T g0 R | FW D B
E-gaE B 3R 3@ Ge s @R @
W FRA & | 3T W TRpcFdNG g §
FawamdmmyEm e | WA
3T & B ? _

(a) T B ERIB T IR AT 5 Bl
I WO, O g sy e
?%Wﬁmmﬁ%m
|

Sl R &7 & ke ¥ Wia & 39
fe & fov S & sawRn A |
(c) A B FEN F Siwex T et stk O
B HOFTITHAT B TR H ITD TR
B 3 |

& R & & famms® 3 sm-vaw &
fore &% & =Ewr S |

(B)

(d)

79,

80.

(43 - A}

A, o &g 7 IR @i & foe FaR

I P U aRAeET o gl H oo &

3 -1 6 UG =R F 0TS T9E &

TR &, IS 39 87 & |

ARAT & A g B RFE F 9T a=

Amua s F v W s g et | W

T 39 FaT TRy ? :

(2) 39 FHafadl & san & e ama A
gferg e ® Fifoiea Rreaa
5 B .

(by 3m FpaRyal @t e favarw Rewdh i
e ‘@Y SIR-USAT &) S |

(© o PRt ¥ s 5§ fee
qIdaEE YA & 9hg |

(@ I FaE & Bend B 3HeE
& Ok B IR & |

UE UG @ @ qAEy ST O,
FOS TeTEES WSRI B8R & AW, 9
Rreraa tieR 3 & 6 39, IR a3
T et & foe i R R | e
Ara-fuar wisie eqmEl & HROT UG T
T amw R e | WA g g & p
(a) 3T IGF FYRMET Gl Bl e I
TGO AR |
I I TN P AT FAE on B
yRierfal & @ gr SR am 6
o g S o = & |
(c) 34 TG AM-TaT & IS I HA
R & SREE & |

3T 39 S B IF dag ) B oag
gfer e & o 3 Risrad @5t # |

(b)

(d)
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i G Hw aE qden gRaw @i @) 4 oe1 o ad aw 4 @
&8 #. : P-PFC-L-CGJB wligor gt S

weror gRam

L1001 00 22 G |
99 - 11

1. odien yR @R & g 9, 3 3 wdeor gRas Y ggarel siava a2 & 6 o o f s, v
W BT X 9 g W ol 5w 1 ol o &, e v e gRae @ wea Hifte
FR-TAS 4w wF R wlawr Rawt o EH A, B, CA1 D FnRuft W wa 3 geag e |
6 e el | Ay B R 12 @hoe ¥ 3peEnga T "i
s ’r“m:w 2 e gRdel R IR g8 9/ o |
4. 36 e QRasn § B0 gedrer () faefe & | wde g fedt R SN 2 & G * Rt 34 aa
T P v e B & iR A B 3R F 1 g Tl ¥ uR megeR (o Rome @ @ R
B wegi B g BR300 30 W ot Ted & | aR wmaE var A T ve & sitte
B e E A 3F aegod PGB S It JakdH ol | Held TRAT & e e g @ wegak
gr-l
5. 3@ 3 W iR e TR0 e IR gae R @ aifdd 63 0 sawme § Ry oy ke 2Re
5. el ¥ e g A
7. v ap s et gRaa B g seeiell $ TgeR Jok-gae WOsifET s g B, snst v
eare o 3 W Sfesr el B A 3o e s § 3 ¢
8. 3 Il IR @ SR-TE § R B @ 94 9aT B g W) e Jae-gaw sdidd of Wi
& e 3 | wesor gfkaer s & semfa
9. s\ W T v afeor qf¥mt & 3 f "o &
10. TE I & e qus -
Az T ¥ Infiar gRT e e meret TRl & e < Rar smem, Rama v 73 9 80 9o ¥, e foe
el 3 & e P & A &
G s e & e ur defiae s ¢ 3efaar R we 3w ast B T, Toads Tor &3 @ R
T et 3ol B o ged g Sad b me shel o v dg & wu F wwey onown
g ot o suliaoR Te § st 3ok & &, A 5 T 3R W e, Tl B e 3ud § & ve SR
B P W e B R FugEER &, 1 ae o & e smem, of 3ud e ds
Giiy 7R IEER GR1 B Te v A3 o amar &, sl Imiea gy 3w A R oar AL o 39 9
y fow X ds adf faon oo

51 @ ! g8 el R @l @) 7 @el S a9 a5 7 @il

“ N

- m— T

Note : English version of the instructiong is printed on the front cover of this Booklet.
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